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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know
feddena o TE g7
(1) T

(2) 4

3)

4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

9 & Fue Ry T #:
FYF [ : T150 Y9 B U 3B & o feat Y9 O1 fiuR &1 Ued Sar & |
FUTI] : 90 & U I MR X U od § - T & oMYR W, 98 & YR W ayl 2 F omyr w |

TR $YF & Hdle H, A1 57 T4 el § 9 999 3ugad 9o &1 909 S
(1) ®Y=I RIS a8 §

(2) ®Y= I R I EH o &

(3) TFITEE WA muF Il T &

(4) T TEE T AET A S

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) mprounptn

(3) inpromputue

(4) inproptune

SEdlE @1 [gad Sasy |

(1) warE




(2) =
(3) T&E

(4) Tma®

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He szaid that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |

fRtET A IR A NE e S EP A Y & |
(1) =g

(2) =

(3) g

(4) =i

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontancous

5. feelings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S B FAFRT B T TR ?
1) fFm

(2) =m

(3) ©c

4 #H

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of "strength’

(1) meckness

(2) revenge

(3) frailty

4) CNErgy

i S F I FI TS T S AR 2
(1) Y&

(2) Ty




(3) "G

(4) wdg

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.

(1) He had not left, we would have been forced to evict him
(2) Hadn't he left we would have been forced to evict him.
(3) Had he not left, we would have been forced to evict him

(4) He not had left. we would have been forced to evict him.

Joferdt ox EET gereY & w6t R SEa g ?
(1) wEmE S
(2) =R &1
(3) smHF
(4) =u S
1[Option ID=31289]
2[Option ID=31290]

3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
Ffafad § § g5 99 &1 9949 S |

(1) == | iy A7d B |

(2) == T w79 F |

(3) s=i 4 & By B |

(4) == 9 iy 75 S |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - "captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

FeffET A S oo oS TR 2 |

1) ==

(2) 5%

(3) Hsw

(4) F=R

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]

Sl. No.10
QBID:15550410




Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective
ST § o9 9 Sy 98 6§ |

(1) & & mft oot &1 vge Smslt F TE e R
(2) fasmui & Wig 39 F 1 amF IR FREF A |
(3) fasmuf &% qEr R Ug Py E |

(4) s fae & € 95 € - 7o SR O |

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

7 ¥ B YRd IRPR & -0 527 Afe gamaR @50 & 39 § Fgaa gue 2

(1) & sFd AR

(2) R0 FARRE

(3) fawm wmi

(4) Pt F

1[Option ID=31209]
2[Option ID=31210]
3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies. which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Lumited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A.B and D only

(2) CandD only

(3) A, Cand D only

(4) B. C and D only

P SF-8 Sutal 3 s 6 d 7 70 adete e Suse $utdl ifta S O argy Fmiw S & qaee e & A § syt e
o 2

A. 99 SfEa faftes

B. Hi-wiw Siw givsar fafcs

C. 47 sfean fafes

D. TigsH sivsan fafies
== fer o fewedf & @ 99 9Ugsd O #1909 S
(1)




FTTA, B ARD
(2) g C D

(3) FAA. C 3R D
(4) FF@ B, C sk D

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian
HHA TTH FI AAGYT F1 W &

(1) 715 =

(2) R ams g

(3) T 3% B

(4) ACEEEE! e =M 3eTA

1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414

A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :
(1) Pituitary Gland

(2) Hypothalamus

(3) Pineal gland

(4) Adrenals
AT F YR # fUd U 09 3 59 78R & el $1 397 &30l & o g9 gig SR e e @) &1 99ifdd &1 8, 98 7 Feandl o

A, foegedt 9fy
B. sOHidTwg
C. difma wfy
D. ©gHA

=2 4 Y oFedl § ¥ 99 SUged SR &1 904 S
(1) FA A, B R D

(2) HaaA R C

(3) FAA.B R D

(4) Faa A R D

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15
QBID:15550415

Who ameng the following is the first woman to receive two Nobel Prizes ?
(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

FrofafEs § 8 @ 59w R e S ol yug 2w 1 E 2
(1) &8 =gd




(2) uftggr 9w
(3) == fEs ds
(4) wrfer e dm

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means "we great Indian country’,
"oi ka la ju" means "we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

% fam g umw F

"0 ja ka hu" #1 31 § 'we great Indian country’,
"oi ka la ju" #1 27 & 'we score good highest'.

"la fu ja ju" #1 34 § "India score the highest"

R "ju uo na fu" F1 3 & "highest of the country".

1 59 $e W & "great” FT FE FE 2
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417

If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A # B" means A is the son of B

How is X related to Z from the given equation ?

X F Y F z
(1) X s the grandson of Z.
(2) Zis the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X




o "A@B " T ef2fr A BFI AR
"B ET e fF A BEITAI

"Az B"F R EFA BF TR
AR F MR R X ST Z S A T=Y 2 7

XzYzZ

(1) X, ZH U@z |
(2) ZX& U@z |
(3) Z.X®w g
(4) ZXH AT |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

Froftian & & 96 a1 3fe Yuad gaeis oN e e g 2

(1) o3 Ty WeA

(2) = TEAS TS TR TES

(3) TR d HY TS

(4) fay @ wdwA

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419
Seven dance students- T, U, V, W. X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they

will perform. Each student will perform exactly one item. a solo ballet. In deciding the order of performance, the instructor must observe

the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position in which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth




R W aeH -T.U,V.W.X. Y IRZ -3 & @it e e iR Fotet sl s ot s e o e sm A oo 0 | mem =
3t v 31 B - 09 UH0 90 & U F | WEfd #9159 i w30 a9 T 1 Oy uiEes 1 uee s e -

. X U5 91 g FH W WEd 5l & 9@l |

X & ufd & 9 usd W R 18T & gl |
ATTARAH Y F0d FF WIRGA S IHT 2 |

. W F A TE Y T 7 BT W &A1 gl |

.U & T30 964 O1 30 a8 § V $1 Wi oo 9ney |

Wy - afg U e 58 W W S 8 & Y Hfiead s nfa S Sears ?
(1) «f=d

(2) wad

(3) 9d

(4) =g

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

L o L D =

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C, D, E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C. and passes through D only.
Flight Z has its ends at E and G, and passes through F only,
Directly connected cities are those cities between which there 1s no other city to land any flight.

Which of the following city is directly connected to the most other cities ?

(1) A

(2) C

3) B

4 D

w%:m;wﬂ;rg@m%’-A.B. C.D. E. F 3R G. FafafEa foal &1 uae &3 gU 57 26d &1 3199 § 9ies & g 4 598 SsH X, Y, Z
BT G :

TEH X, A IR C & wisdl & 4R $a0 B ¥ 1% el © |

TER Y H R B AR CRE IR T8 Faa D 4§ ol & |

TEHZ B TR E R G WE AN 95 o0 F § 5192 Toret © |

T Tl B Y G 5o IR A W 51 & o 9 A S B Sa & R SR meR AR R

T d I sR I s o g I S S AR WISl & -
(1) A

(2) C

3) B

(4 D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676
(2) 476
(3) 578




(4) 576

AUCTION =2 ¥ guil 31 fba= veR § sjafd o o 9o 2, fori fr ww weg ue 91y o 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. em. Then volume of cube is...
(1) 289 cm?

(2) 4913 em?

(3) 4931 em?

(4) 4319 em?

U O &1 g AT 1734 & 99 & df 99 &1 S1gad e g 2

(1) 289 cm?

(2) 4913 em?

(3) 4931 em?

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If v 1 .then _7cz+}'2
y 3 -yt
(1) —E
4
(2) —ﬂ
5
(3) E
4
(4) :
5
W, 1 APy BmEme
y 3 25
(1) —E
4
(2) —ﬂ
5
3) E
4
(4) i
5

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield F 81 of interest at 4.5 % per annum of simple interest ?
(1) 4 years
(2) 5 years




(3) 3 years

(4) 6 years

Z 450 B =R F g 4.5% wftad SRy ow F R W 9 & U H 7 81 W F | e ey w2
1) 47

(2) 57

(3) 37

(4) 67

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 HHFE SEmst #1 3 20 § df 999 S ud g8 981 g &1 49 e g 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]

2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1514841

Y B9 P Bid 8 IS 4 A9 6 -

A TSI

B. gf¥ anif

c. gRerd guem
D. T dedy g™

Al fu Y faedl & § el Sugad STk &1 994 Difoil -
(1) FHad A
(2) Hgd B
() c3RD
(4 A3RB

1[Option ID=42201]
2[Option ID=42202]
3[Option ID=42203]
4[Option ID=42204]

Sl. No.27
QBID:1514842

T8 G HNTURAR S TS -
(1) zfde HeTgkar

2) HHI-fasadl uRar

(3) YRIYG YT URaR

(4) SOFT-PHIRETS YT 9RER

1[Option ID=42245]
2[Option ID=42246]
3[Option ID=42247]
4[Option ID=42248]

Sl. No.28




QBID:1514843

4 3 FYF U U § : UF AVGYUT (Assertion A) & =9 H fIfEd & d GER1 39P HRUT (Reason R) F &I T
B UF A : Td [l U@ @l U1 @aH-3g &1 SR US Sicd & a1y i ST § a1 34 '31&R Fed ol
FRUR : B & i wR 3R g € siR it ool & o TR eH & SRurd off R i € |

TR Y P 3MEe 0, =i [0 Y [qPpedi ¥ 9 T8l TR &1 90 DI -

(1) ARRIATAE IR R AT T TR

2) ARREH T T, APTR. A P IS e I ©
() AR APTR 3TAE

() A3EIE. AFTRITT

1[Option ID=42289]
2[Option ID=42290]
3[Option ID=42291]
4[Option ID=42292]

Sl. No.29
QBID:1514844

14 S FYF U U § : UF AUGYUT (Assertion A) & =9 H ffREd & A GER1 39P BRI (Reason R) &I 1 :

3ifireyT A - auf WIS Bl TYAH ST © |
HRUIR : g0f U1 & F=Rd sk fof@a g vaf S udia © |
IRIFd U & AP |, A1d U MY fdwedi § T Tg! 3R &1 99 Difog :

(1) ASRRIATAE IR R AP T T

2) ARREH T T, APTR, AT IS T TR ©
() AR APIR ITAE

4 AT T AFTRTAS

1[Option ID=42333]
2[Option ID=42334]
3[Option ID=42335]
4[Option ID=42336]

Sl. No.30
QBID:1514845

Y B ST =<t ST fify SaR gt I Sifde & ey ofg=sa 8 9gd @ -
(1) 31I=9G 344

(2) 3T=54 345

(3) TS 343

(4) Sudad 4 U PIg ol

1[Option ID=42377]
2[Option ID=42378]
3[Option ID=42379]
4[Option ID=42380]

Sl. No.31
QBID:1514846

fafafad I ¥ o9 o1 ey w9 98t oy 98t 2 -

A, YY1 gic: i Sdbdl &1 U TR § |
B. 98 A1Fd 09 § et eififef@ |
C. 3% Veal & S v AT E |

D. 98 [6aRi & 3eH- e &1 9Hifvia GRU g |

i feu e faeedl & ¥ 9ad Sugad STk &1 99 DIl :

1) A
2) B
3) C
4 D

1[Option ID=42421]
2[Option ID=42422]




3[Option ID=42423]
4[Option ID=42424]

Sl. No.32
QBID:1514847

:ﬁﬁaﬁmﬁ—@,wg:QﬁW%W(Asseﬂioniﬁ)%Wﬁm%ﬁme(RﬁsonR)$mﬁ:

HHYT A - o<l wrr g fofu & gt wrdi 2
HRUIR : SR & ifdad Sl weret fefagl & f fg=<t wrn ford] ol 8 |1
IRIFd U & i@ |, A1d [EU 7Y fdwedi § T I8! 3R &1 99 Difog :

(1) ASRRIATAE IR R AT T I

2) ARREH T T, APTR, AP IS T TR ©
(3) AR APTR 3T

() AT S AfFTRTTS

1[Option ID=42465]
2[Option ID=42466]
3[Option ID=42467]
4[Option ID=42468]

Sl. No.33
QBID:1514848

:ﬁﬁamﬁ—@,wg:QﬁG{T\WW(A%EMDHA}%Wﬁ%%ﬁme(RﬁsonR)$mﬁ:
HYHYT A UHF=< A e, 7T, amweA R e & sifafvad o= 3o oft forg |

BRUIR : Hell 390 WHE5 BT Hgaqul STaR © |
TR Y P 3 0, =i [ Y [qPedl ¥ 9 Te! TR BT 90 DIy -

(1) AJRREF TAE AR R A DI TSI AT §

2) ARREH AT, APTR. AP IS T TR ©
(3) AR APIR ITAE

4 AT T AFTRIAS

1[Option ID=42493]
2[Option ID=42494]
3[Option ID=42495]
4[Option ID=42496]

Sl. No.34

QBID:1514849

el 1% 1Y Yl 11 BT e S -

T 1 Tt 11

A | I |HIgdrEs 931
B. |[AH 1. [Sifcared
C. |Feg 111 |oafddardd g
D. [TH1 V. [Sifdaras g

fa ¥ N

41 fau 71t famedl © 9§ 98l 3O &1 99 Hifol -
(1) A-IL BIL C-L DIV
(2) A-II. B-IV, C-ITI, D-I
(3) AL B-IL C-1.D-IV
(4) A-III B-IV, C-I. D-II

1[Option ID=42497]
2[Option ID=42498]
3[Option ID=42499]
4[Option ID=42500]

Sl. No.35
QBID:15148410




el 1% 1Y I 11 BT e S -

T 1 T 1
UIYATEd G | L [SIF, ar
Foard® gaaH | 1L [H. g g
Mygara® $a4H| 1L (98, 98, 9!
Uyddd §a4E | IV, (8T

i fau ¢ fash el & T el TR &1 90 Iy -
(1) A-L BAIL C-IV, D-II

(2) AL B-1V, C-I, D-III

(3) A-IL B-1V, C-IIL, D-I

(4) A-IIL B-IV. C-I, D-III

olo|w|»

1[Option ID=42205]
2[Option ID=42206]
3[Option ID=42207]
4[Option ID=42208]

Sl. No.36
QBID:15148411

¥¢ g 31 Weal D] PEd 6. 9l GO Wsal & TN J ol §%: TG PYT © -

A gl
B. o

C. 39y

D. 39ad § Y Big -Tal
i fau Tt f[aeedl § 9 98t 3= &1 994 Bifolg -
M A
) B

3) C
4 D

1[Option ID=42209]
2[Option ID=42210]
3[Option ID=42211]
4[Option ID=42212]

Sl. No.37
QBID:15148412

frafeiad 3 3 o9 a1 gode har o1 Samu el 22
@) IR FIuPpsarg |

() o g |

(3) TSHIIAE |

) IFEEIFE 1 |

1[Option ID=42213]
2[Option ID=42214]
3[Option ID=42215]
4[Option ID=42216]

Sl. No.38
QBID:15148413
el 1% 1 Yl 11 BT e B -
TN I e 11
A [gEER L&
B |dY &R |
C. [4gad WX I [¢ 2)
D. |a4® AU

i 4T T fashedl O T HEl TR &1 90 Iy -




(1) A-II B-IV, C-I. D-II
(2) A-IV.B-I C-II, D-ITI
(3) A-IV.B-II, C-III. D-I
(4) A-III, B-II. C-IV. D-I
1[Option ID=42217]
2[Option ID=42218]

3[Option ID=42219]
4[Option ID=42220]

Sl. No.39
QBID:15148414

fafafad o 9 gg veg Bifeu -
(1) Hedd

(2) WY

(3) gl

4 gfd

1[Option ID=42221]
2[Option ID=42222]
3[Option ID=42223]
4[Option ID=42224]

Sl. No.40
QBID:15148415

fafeiad o sixls vsg sifey -
(1) SINATD

2 gl

3) Ufaeis

(4) IsORHe

1[Option ID=42225]
2[Option ID=42226]
3[Option ID=42227]
4[Option ID=42228]

3'{;1"&'{'51143415
el 1% 91y gl 11 &7 e Sifee .
T I HT 1T
A |gadie™ L |3y o
B. |fEr 1. |anf @
C. [geman 1. [Sfcerer
D. |MRdgeRYg | v [ufda@ea

=t feu U fomedl © © 9l 3T &1 994 I -
(1) A-IV,B-III, C-II, DI

(2) A-LB-IV,CIL D-III

(3) A-IV,B-III C-IL DI

(4) A-IL B-II, C-IV. DI

1[Option ID=42229]

2[Option ID=42230]

3[Option ID=42231]
4[Option ID=42232]

Sl. No.42
QBID:15148417

:ﬁﬁaﬁmﬁ—@,wg:QﬁW%W(Asseﬂioniﬁ)%Wﬁm%ﬁme(RﬂsonR)$mﬁ:
AU A : TERI T & TWAHR IGEER 6 |

PRUIR : Tg MfePpa g TERd e |

IRIFd DY & 3TAld 4, -1 fAu T fabedi & I I8! IR &1 994 Do ;

(1) ARREHI AT IRR AT Tl aran &
(2) ASIRREF I T, AP R. A DI Uel ARATTE &




(3) ATUR. ABIR 3B
) AN AFTRITE

1[Option ID=42233]
2[Option ID=42234]
3[Option ID=42235]
4[Option ID=42236]

Sl. No.43
QBID:15148418

R Ut FT AR TN B . -

A. To=1 Wifec 1 Eiaer (e T
Blm LE) Ly ( £ m A=) Ll
1. g HIs gieger fiewr & A1eq fega (Fae)

C. SHIGR & o [eaRIR Ugs U UgRIHI (Tl & el

4 feu U fasedl & ¥ 9ad Sudead SR &1 989 P -
(1) A
(2) B
3) C
4 D

1[Option ID=42237]
2[Option ID=42238]
3[Option ID=42239]
4[Option ID=42240]

Sl. No.44
QBID:15148419

S e H faential o1 e Sisd S & o oma 3 3 3 7 va o -
(1) PBR U3 471|

(2) F50 AR BT

(3) TeH @I gy & ufkad— s

(4) JeHIATYS I e B |

1[Option ID=42241]
2[Option ID=42242]
3[Option ID=42243]
4[Option ID=42244]

Sl. No.45
QBID:15148420

9 I HYF GU T § : TP MDY (Assertion A) F =9 § ARG g A GURT 3HP HRUT (Reason R) & &G 1 -

&MWA:E%?:!HrQ-ﬂ U BTUaIE & YIE Bl ¢ |

PRUIR : U 3R Tewd B A FRIAADIE |
IR FUA & A H. AId S0 7Y fdpedi & I T 3R &1 98- Ditol :

(1) AJRRIFATAE IR R AT TR

(2) A 3R R 3FI 94 8. A R, A Pl I8 I ST &
() AT R, AFAR S B

(4) A TR, AfbTR AR

1[Option ID=42249]
2[Option ID=42250]
3[Option ID=42251]
4[Option ID=42252]

Sl. No.46
QBID:15148421

o faanel 319 Ug- & S=5@ el o, S9! 1 WO g -
(1) FAR! DI Bl & HRUM BT Td1 T |
(2) 3= 93 YgAdh: o] |

(3) FAPH] Y TaGE Dl |
(4)




ST H E BT T |

1[Option ID=42253]
2[Option ID=42254]
3[Option ID=42255]
4[Option ID=42256]

Sl. No.47
QBID:15148422

18 o1 Faffad § neayol Sdog 71 81 2
(1) P! Pl had a5 BT - B |

(2) SIES| DI 9 [0l & gRI Y™ |

(3) FIAD! P Faror fGHg W = 31 |

(4) FTAD! DI Sfafad B & |

1[Option ID=42257]

2[Option ID=42258]

3[Option ID=42259]
4[Option ID=42260]

Sl. No.48
QBID:15148423

HTue! (gfad $mad S SR 08— & I8R5 51 Uls. f[aeniidl $iR s Geobitial & Ul 30U HagR &Hl i 2
1) FER

() I

(3) Had

(4) IPF H H PI5 Tal

1[Option ID=42261]
2[Option ID=42262]
3[Option ID=42263]
4[Option ID=42264]

Sl. No.49
QBID:15148424

TS YUHTER §5d S0k WHIG & ofad ¢ | ST9d Ui 3761 e¥H 0 HRIES 5] o | STUH! F1 YaR=I G 2

M) FHIT I I IS ST |
(2) JYFER ® Rerd 3o siumial 9 & |
(3) T PRI 3R TGER T FUTEM & A Ufd SVHI0 BT ga- 1 7T B |

@) ST § Y BIS e

1[Option ID=42265]
2[Option ID=42266]
3[Option ID=42267]
4[Option ID=42268]

Sl. No.50
QBID:15148425

W faftr sl ¥ o fosfad sl 6 2

(1) FHad GFATED [derd

(2) Had YRIRS [gHrg

(3) THad ads [da

(4) TFEIED, IRING 3R Games fgoy
1[Option ID=42269]

2[Option ID=42270]

3[Option ID=42271]
4[Option ID=42272]

Sl. No.51
QBID:15148426

Identify the antonym of the underlined word from the option given below:

Cheryl made fervent appeal to his friends to stop fighting over a small issue.

(1) active
(2) cold




(3) impassive

(4) passionate

1[Option ID=42273]
2[Option ID=42274]
3[Option ID=42275]
4[Option ID=42276]

Sl. No.52
QBID:15148427

Identify the suitable meaning of the underlined idiom from the option given below:

Trisha is a little hard of hearing still everyone speaks loudly when talking to her.
(1) insensitive

(2) disinterested

(3) inaudible

(4) deaf

1[Option ID=42277]

2[Option ID=42278]

3[Option ID=42279]
4[Option ID=42280]

Sl. No.53
QBID:15148428

Tdentify the correct option from the options given below to make sentences meaningfully.

His brother is living in Mumbai these days.

(1) oldest
(2) eldest
(3) elder
(4) older
1[Option ID=42281]
2[Option ID=42282]

3[Option ID=42283]
4[Option ID=42284]

Sl. No.54
QBID:15148429

Identify the correct spelling of the word given below (ONLY one word is correctly spelt)

(1) Assassination
(2) Disipation
(3) Saintilation
(4) Exhitration
1[Option ID=42285]
2[Option ID=42286]

3[Option ID=42287]
4[Option ID=42288]

Sl. No.55
QBID:15148430

Identify synonym of the underlined word from the options given below:

Chandrashekher 1s exasperated after listening to the suggestions given by his team members on how to prevent plagiarism in assignments:

(1) 1rritated

(2) amused

(3) bored

(4) disappointed
1[Option ID=42293]
2[Option ID=42294]

3[Option ID=42295]
4[Option ID=42296]

Sl. No.56
QBID:15148431

TIdentify the direct speech of the sentence from the option given below:

Ramesh suggested to his friends that they should stay that night at his house.

(1) Ramesh said to his friends. “Why not stay tonight at my house 77




(2) Ramesh told his friends, “Why stay tonight at his house 7"

(3) Ramesh says to his friends. “Why not stay tonight at my house ?”
(4) Ramesh ask his friends. “Why not stay that night at his house 77
1[Option ID=42297]

2[Option ID=42298]

3[Option ID=42299]
4[Option ID=42300]

Sl. No.57
QBID:15148432

Identify the correct sequence of the jumbled parts of the sentence given below:
P. starting with areas dealing with perception.

Q. thinking and public inhibition

R. and ending with these responsible for judgment

S. the brain matures from back to front

The correct sequence is :-
(1) PQRS

(2) QRPS

(3) SPRO

(4) SQPR

1[Option ID=42301]
2[Option ID=42302]

3[Option ID=42303]
4[Option ID=42304]

Sl. No.58
QBID:15148433

Identify the correct sequence of the jumbled parts of the sentence given below:

P. Recent studies have shown

Q. such as planning. changing and adapting plans
R. abstract reasoning and language

S. the rebellion plays a part in higher cognitive tasks.
The correct sequence should be :-

(1) PQRS

(2) PESQ

(3) PSRQ

4) PSQR

1[Option ID=42305]

2[Option ID=42306]

3[Option ID=42307]
4[Option ID=42308]

Sl. No.59
QBID:15148434

Identify the correct sequence of the jumbled parts of the sentence given below:
P. Dyslexia is a cantata as in which a person

Q. even though they speak & understand it perfectly well

R. difficulty with reading or writing a language

S. and their intelligence is normal:

The correct sequence should be :-

(1) PQRS
(2) PRQS
(3) PSQR
(4) PRSQ
1[Option ID=42309]
2[Option ID=42310]

3[Option ID=42311]
4[Option ID=42312]

Sl. No.60
QBID:15148435




Identify error in the parts of the sentence given below:
(1) adults suffering COVID-19

(2) can develop

(3) all sorts of complications

(4) 10 error

1[Option ID=42313]

2[Option ID=42314]

3[Option ID=42315]
4[Option ID=42316]

Sl. No.61
QBID:15148436

Identify suitable option for the sentence given below:

A new comer teacher who is not respected in his‘her class will deal with the students by

(1) applying punitive measure

(2) improving his’her qualities and expressing it before them by conducting activities
(3) changing his class after consulting with the authorities

(4) giving them a threat of expiation

1[Option ID=42317]

2[Option ID=42318]

3[Option ID=42319]
4[Option ID=42320]

Sl. No.62
QBID:15148437

Identify suitable option for the sentence given below:
Each child is different and grown in its own unique way. The individual difference are due to :-

(1) Heredity

(2) Endowment

(3) Environment influences
(4) All of the above
1[Option ID=42321]

2[Option ID=42322]

3[Option ID=42323]
4[Option ID=42324]

Sl. No.63
QBID:15148438

Identify suitable option for the question given below:
Why should a student not be punished severely ?

(1) S/'he may quarrel with the teacher.

(2) S’he may leave the school and join another school.

(3) His/her parent/s may quarrel with the teacher and she the school.

(4) The student may develop a negative attitude towards his/her studies, school & teacher.
1[Option ID=42325]

2[Option ID=42326]

3[Option ID=42327]
4[Option ID=42328]

Sl. No.64
QBID:15148439

Identify suitable option to complete the sentence given below:

The most important task in teaching is

(1) to make assignments and take oral exam

(2) to make monthly reports and maintain records

(3) to direct students in their development of experience

(4) None of the above

1[Option ID=42329]
2[Option ID=42330]
3[Option ID=42331]
4[Option ID=42332]

Sl. No.65
QBID:15148440




Identify suitable option for the sentence given below:
A majority of students in your class are weak. you should

(1) not focus your attention on intelligent students
(2) increase your speed of teaching so that comprehension level of students may increase
(3) slow down you speed of teaching which can be helpful to bright students

(4) slow down you speed of teaching along with some extra activities for above average students

1[Option ID=42337]
2[Option ID=42338]
3[Option ID=42339]
4[Option ID=42340]

Sl. No.66
QBID:15148441

Note : Questions are based upon the following paragraph :
Musie

Music is hard to distinguish objectively from noise, though many people would define irregular patterns of sound waves as noise and call
regular waves music.

Parts of the auditory cortex respond to different qualities in musie. The lower part responds to frequencies. the middle area registers
harmony and rhythm, while the top part is activated when people attach meaning and appreciation to a piece of music. The auditory cortex
m both hemispheres responds to sound. but in most people music excites the right hemisphere more than the sound of speech.

The Mozart effect 1s the slightly dubious idea that a child’s early mental development is enhanced by listening to music by the famous
Austrian composer. Studies have produced conflicting results. It seems likely that all music, not just Mozart, stimulates the brain and
enhances development in children, and indeed improves many aspects of brain function in adults.

According to the passage. which part of the auditory cortex helps people to attach meaning and appreciation to a piece of music ?
(1) lower part

(2) middle part

(3) top part

(4) in both hemispheres
1[Option ID=42341]
2[Option ID=42342]

3[Option ID=42343]
4[Option ID=42344]

Sl. No.67
QBID:15148442

Note : Questions are based upon the following paragraph :

Music

Music is hard to distinguish objectively from noise. though many people would define irregular patterns of sound waves as noise and call
regular waves music.

Parts of the auditory cortex respond to different qualities in music. The lower part responds to frequencies. the middle area registers
harmony and rhythm. while the top part is activated when people attach meaning and appreciation to a piece of music. The auditory cortex
in both hemispheres responds to sound. but in most people music excites the right hemisphere more than the sound of speech.

The Mozart effect is the slightly dubious idea that a child’s early mental development is enhanced by listening to music by the famous
Austrian composer. Studies have produced conflicting results. It seems likely that all musie. not just Mozart, stimulates the brain and
enhances development in children, and indeed improves many aspects of brain function in adults.

The meaning of the word “dubious™ in the sentence refers to:
(1) cxaggeration

(2) doubtful

(3) profound

(4) complicated

1[Option ID=42345]
2[Option ID=42346]
3[Option ID=42347]
4[Option ID=42348]

Sl. No.68
QBID:15148443




Note : Questions are based upon the following paragraph :
Musie

Music is hard to distinguish objectively from noise. though many people would define irregular patterns of sound waves as noise and call
regular waves music.

Parts of the auditory cortex respond to different qualities in musie. The lower part responds to frequencies. the middle area registers
harmony and rhythm. while the top part is activated when people attach meaning and appreciation to a piece of music. The auditory cortex
in both hemispheres responds to sound, but in most people music excites the right hemisphere more than the sound of speech.

The Mozart effect is the slightly dubious idea that a child’s early mental development is enhanced by listening to music by the famous
Austrian composer. Studies have produced conflicting results. It seems likely that all music. not just Mozart, stimulates the brain and
enhances development in children, and indeed improves many aspects of brain function in adults.

What do you understand by the term “The Mozart effect” mentioned in the passage ?

(1) refers to distinguish between sound and noise

(2) refers to activate different parts of auditing

(3) refers to all music which would help to stimulate mental development in children & adults.
(4) refers to the intelligence boosting effect produced by listening to the music of the composer.
1[Option ID=42349]
2[Option ID=42350]

3[Option ID=42351]
4[Option ID=42352]

Sl. No.69
QBID:15148444

Note : Questions are based upon the following paragraph :

Music

Music is hard to distinguish objectively from noise. though many people would define irregular patterns of sound waves as noise and call
regular waves music.

Parts of the auditory cortex respond to different qualities in musie. The lower part responds to frequencies. the middle area registers
harmony and rhythm. while the top part is activated when people attach meaning and appreciation to a piece of music. The auditory cortex
in both hemispheres responds to sound, but in most people music excites the right hemisphere more than the sound of speech.

The Mozart effect is the slightly dubious idea that a child’s early mental development is enhanced by listening to music by the famous
Austrian composer. Studies have produced conflicting results. It seems likely that all music. not just Mozart, stimulates the brain and
enhances development in children, and indeed improves many aspects of brain function in adults.

A suitable title for the passage would be:-

(1) The Mozart effect

(2) Music and its effect on brain

(3) The Brain function in Adults

(4) Irregular patterns of sound waves

1[Option ID=42353]
2[Option ID=42354]
3[Option ID=42355]
4[Option ID=42356]

Sl. No.70
QBID:15148445

Match List I with List IT

LISTI LISTII
A |Quamnt i3 Defeat
B. |Rout II.  |Onginal
C. |Profuse III. |Strange
D. |Native IV. |Lawvish

Choose the correct answer from the options given below :
(1) A-II B-IL C-IV. D-II
(2) A-IV. B-II. C-1. D-ITT
(3) A-L B-III. C-II. D-IV




(4) A-IL. B-IV. C-III. D-I

1[Option ID=42357]
2[Option ID=42358]
3[Option ID=42359]
4[Option ID=42360]

Sl. No.71
QBID:15148446

Identify the suitable option to complete the sentence:

My sister did not call me though she called and asked for my help.

(1) should

(2) should have
(3) could

(4) could have
1[Option ID=42361]
2[Option ID=42362]

3[Option ID=42363]
4[Option ID=42364]

Sl. No.72
QBID:15148447

Given below are two statements :
Statement I : When uncountable nouns are written in a sentence, it is used in singular forms only.

Statement II : The examples are advise. information, men, luggage. business

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement II is true

1[Option ID=42365]

2[Option ID=42366]

3[Option ID=42367]
4[Option ID=42368]

Sl. No.73
QBID:15148448

Given below are two statements :
Statement I : Demonstrative pronouns such as ‘this, that, these” are used to indicate objects in a sentence.

Statement II : Demonstrative pronouns are used in a sentence to indicate emphasis
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement|is true but Statement Il is false

(4) Statement I is false but Statement II is true
1[Option ID=42369]

2[Option ID=42370]

3[Option ID=42371]
4[Option ID=42372]

Sl. No.74
QBID:15148449

Identify suitable active voice for the sentence from the option given below:
Everyone was surprised at his sudden arrival.

(1) She surprised everyone by her sudden arrival.
(2) Her sudden arrival surprised everyone

(3) She surprised everyone

(4) Her sudden arriving surprises everyone.
1[Option ID=42373]

2[Option ID=42374]

3[Option ID=42375]
4[Option ID=42376]

Sl. No.75
QBID:15148450

Identify the indirect speech of the sentence from the option given below:
She said, “Need I write a letter 77

(1) She said that if she was to write a letter.




(2) She asked if she had to write a letter.

(3) She told that whether she needed to write a letter.
(4) She mentioned that if she had to write a letter.
1[Option ID=42381]

2[Option ID=42382]

3[Option ID=42383]
4[Option ID=42384]

Sl. No.76
QBID:15148451

TJAg: IgNe: faerd -
(1) T§IOE:

(2) TR

@) faele=E

(4) TR

1[Option ID=42385]
2[Option ID=42386]
3[Option ID=42387]
4[Option ID=42388]

Sl. No.77
QBID:15148452

P9 [P Fo W 2
(1) BRF:

(2) FRET

(3) FHdl

(4) PR

1[Option ID=42389]
2[Option ID=42390]

3[Option ID=42391]
4[Option ID=42392]

Sl. No.78
QBID:15148453
s

I YTdl: TIC TPR AHHISNY FUH] -
@ Ay

2 =

3 fargar

(4) Iy

1[Option ID=42393]
2[Option ID=42394]
3[Option ID=42395]
4[Option ID=42396]

Sl. No.79
QBID:15148454

RIS FHIUH SO FHEYS o |
(1) SHINH
(2) HfEREH
(3) JURME:
@) SR

1[Option ID=42397]
2[Option ID=42398]
3[Option ID=42399]
4[Option ID=42400]

Sl. No.80
QBID:15148455

& = &id -
1) T3"
(2) H¥




3 Fd
(4) ¥

1[Option ID=42401]
2[Option ID=42402]
3[Option ID=42403]
4[Option ID=42404]

Sl. No.81
QBID:15148456

HRIgH: S faug: &: 2
(1) HelgH:
(2) Hel{ &%
(3) Hed gH:

(4) HE™ A9 gH:

1[Option ID=42405]
2[Option ID=42406]
3[Option ID=42407]
4[Option ID=42408]

Sl. No.82
QBID:15148457

9% 3 2 -
() wMEEd
(2 I
3) Tgd
(4) R

1[Option ID=42409]
2[Option ID=42410]
3[Option ID=42411]
4[Option ID=42412]

Sl. No.83
QBID:15148458

Siftiamar 4 339 g 2
(1) FHdeA

(2) Tgdad

(3) FaeA

(4) 3ryddc

1[Option ID=42413]
2[Option ID=42414]
3[Option ID=42415]
4[Option ID=42416]

Sl. No.84
QBID:15148459

el 1% |1 gl 11 7 e i -

HI I T I
HFGRTUR Fa L[S

HIGSIORIO Tl I |sfice:

FEqqa@URg a1 | 11 (SR

olo|w|»

HIHUSTQRIURG gaal | IV, [rafife:

=t feu e fomedl © O U6l 3R &1 904 B
(1) A-IIL B-II. C-IV, D-I

(2) A-IV.B-L C-IIL, D-II

(3) A-II B-III, C-IV. D-I

(4) A-LB-IV,C.L DI

1[Option ID=42417]
2[Option ID=42418]




3[Option ID=42419]
4[Option ID=42420]

Sl. No.85
QBID:15148460

BEGIERIE LIRS

T | : RIS RARYRI SIS ERFAR | GReR=W SR fagmieg: A1
DY : FRHERARIURI ISR AT | GReR—w USSR [aqHe: ST |
SWRI DU & 3 H, =i U 7 fadedl & I 9el SR &1 98- DI -

(1) HYFI AR IH 9 §

2) Y1 R I SHT ST &

() FYTITA S, AFT PUT 1 3T T
(4) HYT] HIA 2. AP FUT I TA &

1[Option ID=42425]
2[Option ID=42426]
3[Option ID=42427]
4[Option ID=42428]

Sl. No.86
QBID:15148461

(1) IHEUH
(2) HelHRdH

(3) TIHfE
(4) FRTBIGI

1[Option ID=42429]
2[Option ID=42430]
3[Option ID=42431]
4[Option ID=42432]

Sl. No.87
QBID:15148462

el 1% 91y gl 11 &7 e Sifee .

T 1 el 11
A |afe I |d3, 99, 4, 9d7
B [&l<H II. |3d:. @d:. O
c |/ 111 [gg. g1 el
D. [afd 1V. [Fad, u<aq, fHiead
=t feu e fomedl © O 9l 3T &1 904 B -

(1) A-IL B-III. C-1. D-IV
(2) A-IV. B-II. C-III. D-I
(3) A-IIL. B-II. C-1. D-IV
(4) A-l. B-III. C-II. D-I
1[Option ID=42433]
2[Option ID=42434]

3[Option ID=42435]
4[Option ID=42436]

Sl. No.88
QBID:15148463

faya= forfad: o= aeld -
(1) PIUUYRE:

() Tifgaay:

(3) TAD:

(4) BTG

1[Option ID=42437]
2[Option ID=42438]
3[Option ID=42439]
4[Option ID=42440]




Sl. No.89
QBID:15148464

IR B0y Sid DIoaavl d-ladH -
(1) ST

2) PP

&) g

@) 2fus

1[Option ID=42441]
2[Option ID=42442]
3[Option ID=42443]
4[Option ID=42444]

Sl. No.90
QBID:15148465

1[Option ID=42445]
2[Option ID=42446]
3[Option ID=42447]
4[Option ID=42448]

Sl. No.91
QBID:15148466

Fe1adq He-1Y"ad Heaid SRade §dugfad: $F 9ud 2
(1) HAYHYG

() SIS

(3) way

(4) SEERUGDIY-TulG

1[Option ID=42449]
2[Option ID=42450]
3[Option ID=42451]
4[Option ID=42452]

Sl. No.92
QBID:15148467

SR aHpRIvT FaHURY Hod -

A i
B. ATHHRUH
C. g8
D.

E. Hioareag

Al fau 7Ty faedl & T 9ad Suged SOk B 98- Difoiy -
1) AEDB.C
(2) A.CD.B.E
3) ADE.CB
(4) A.CED.B

1[Option ID=42453]
2[Option ID=42454]
3[Option ID=42455]
4[Option ID=42456]

Sl. No.93
QBID:15148468




BECIE B ACTRIEE

HYUA 1 : Tl  TURHEIRT ORI |' 58 g HiaUTE TqemaRgay |

HUF 1T : Wl J IIREIRG SR | 58 g UfauTg graxneRygay |

SWRIGd DY & 3{Teie H, A1 AU ¢ faded! # I Fel SR &1 991 DI ;

(1) HYFI AR I IH 9 §

) Y1 R GHT 3FT &

() HYT 1T . AT U 11 3T B
(4) HYTI AHTA ¢, AT YT I T §

1[Option ID=42457]
2[Option ID=42458]
3[Option ID=42459]
4[Option ID=42460]

Sl. No.94
QBID:15148469

9 I HYF GU T § : TP MDY (Assertion A) F =9 § ARG g A GURT 3HP HRUT (Reason R) & &G 1 -
DY A TR THAYR qTe 391 g1 S SUHTAE R T4UERET |

PRUIR : [oiaid ASiig e SieHarsi- ' §id SUHTE REEEUERT |
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